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Enrollment No: _______________________ Exam Seat No:_______________________  

 C.U.SHAH UNIVERSITY  

Summer Examination-2018 
 

Subject Name: Tool Engineering 

Subject Code: 2TE06TEN1                            Branch: Diploma (Mechanical) 

Semester: 6 Date: 25/04/2018            Time: 02:30 To 05:30               Marks: 70 

 
Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 

(2) Instructions written on main answer book are strictly to be obeyed. 

(3) Draw neat diagrams and figures (if necessary) at right places. 

(4) Assume suitable data if needed.  
 
 

Q-1 Attempt the following questions:                                                                               (14) 

 
a) Which of the following is not a function of tool engineering?  

1. Manufacturing    2. Material Selection   
3. Marketing    4. Designing 

b) Which of the following is hardest known material?  
1. Cemented carbide   2. Ceramics  

3. Cubic boron nitride (CBN)  4.Diamond 

c) Blanking and piercing operations can be performed simultaneously in a  
1. Simple die    2. Progressive die  
3. Compound die    4. Combination die 

d) Which of the following is not a part of universal act?  
1. Design     2. Get  
3. Process     4. Dispose 

e) A device, in which a component is held and located for a specific operation and 

bushes are integrated that guide the tool, is called as  
1. Die     2. Fixture  

3. Jig     4. locator 

f) Which locator is used for locating cylindrical part?  
1. Nesting locator    2. V-locator  

3. Fixed stop locator   4. Relieved locator 

g) The device which is used to remove work piece from close-fitting locators 

1. Remover     2. Ejector   

3. Escaper      4. Blocker 

 

h) In blanking operation the clearance provided is 
1. 50% on punch and 50% on die  2. On die 

3. On punch    4. On die or punch depending upon 

designer’s choice 

i) Compound dies performs 

1.Two or more operations at one station in one stroke 

2.Two or more operations at different stations in one stroke 

3.Only one operation can do at one work station in one stroke  
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4.Two operations at two different work stations in one stroke 
j) In piercing operation the clearance provided is 

1. 50% on punch and 50% on die  2. On die 

3. On punch    4. On die or punch depending upon 

designer’s choice 

k) The following type of jig is used for machining in more than one plane  
                          1. Template jig    2. Plate type jig  

  3. Open type jig    4. Box type jig 
l) The device which place the workpiece in the same position, in jig and fixture, 

cycle after cycle is called as 

1.Placing device    2. Fixing device   

3.Locating device    4.Positioning device 

m)   In a __________, both cutting and non-cutting operations are 
performed at         one   station of the press in every stroke of the 
ram.  

                          1. Progressive die    2. Simple die  

  3. Combination dies   4. Compound die 

n)   Identify the milling process in given Fig. 

 

 
                     1. Gang milling   2. Slab milling  

                     3. Straddle milling    4. Up-cut milling 

 

Attempt any four questions from Q-2 to Q-8 
 

Q-2 Attempt all questions (14) 

1 Explain functions of tool engineering 07 

  2 Define “Process planning”. List the functions to be performed under Process         
planning. 07  

Q-3 Attempt all questions (14) 

1 Explain 3-2-1 locating principle 07 

2 Draw and explain the tool geometry of single point cutting tool 07 

Q-4 Attempt all questions (14) 

1 Explain Locating and Clamping device. Name any three standard Locating and 
Clamping device each. 07  

2 Explain shearing action in press tool with neat sketch. 07 

Q-5 Attempt all questions (14) 

1 List the four Universal Acts. Explain the elements of Universal Acts by suitable 
example. 07  
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2 Classify Press tools according to process and construction. 07 

Q-6 Attempt all questions (14) 

1 Give the difference between compound die and progressive die 07 

2 Give the difference between jig and fixture. Give any three name of Jig and fixture 07 

Q-7 Attempt all questions (14) 
1 Define clearance and why clearance is necessary in cutting dies. 07 
2 Name the methods to reduce Cutting force and discuss any one. 07 

Q-8 Attempt all questions (14) 

1 Write the name of forming die and explain embossing die and write its  

 application and limitation. 07 

             2 List and draw any four types of Locators and state their uses. 07 
 
 
 
 
 
 
 
 

 

 

 

ગજુરાતી  
 

પ્ર. ૧ નીચેના પ્રશ્નોના જલાફ આ઩ો.  (૧૪) 
ક  નીચેના ભાાંથી કય ાં ટરૂ ઈજનેયીન ાં કામય નથી ?  

 1. ભેન્ય પેક્ચરયિંગ   2. ભરિરયમર સિરેકળન   

 3. ભાકેરિિંગ     4. ડીઝાઈનીંગ  
ખ નીચેનાભાાંથી કય ાં ભરિરયમર િૌથી લધ ાં િખત છે ? 

 1.સિભેંિેડ કાફીડે   2.સિયાસભક  
3.ક્ય બફક ફોયોન નાઈટ્રાઈડ(CBN)  4.ડાઈભાંડ    

ગ બ્રેંરકિંગ અને ઩ીમસિિંગ ઓ઩યેળન એકિાથે કઈ ડાઈ ઉ઩ય થઈ ળકે છે ? 
1.સિમ્઩ર ડાઈ    2.પ્રોગે્રસિલ ડાઈ  
3.કમ્઩ાઉન્ડ ડાઈ    4.કભફાઈન ડાઈ  

 

ઘ નીચેના કમો ય સનલિયર એક્િનો બાગ નથી? 
1. ડીઝાઈન    2.ગેિ  
3.પ્રોિેિ     4.રડસ્઩ોિ  

 

ચ કોઈ સલસળષ્િ કામય કયલા ભાિે બ ળની િાથે ફનાલલાભાાં આલતા બાગ કે જે કરિિંગ ટલૂ્િને રદળા 
આ઩ે છે, તેને શ ાં કહ ેછે? 

1. ડાઈ     2.રપક્ષ્ચય   
3.જજગ      4. રોકેિય 

 

છ નીચેનાભાાંથી ક્ય ાં રોકેિય ન઱ાકાય બાગને રોકેિ કયલા ભાિે લ઩યામ છે? 
1.નેસસ્િિંગ રોકેિય    2. V – રોકેિય 
3. રપક્સ્ડ સ્િો઩ રોકેિય   4. રયબરવ્ડ રોકેિય 
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જ ક્રોઝડ પીિીંગ રોકેિય ભાાંથી લકય઩ીિને દૂય કયલા લ઩યાતા િાધનને શ ાં કહ ેછે ? 
1.યીમ લય     2. ઈજેકિય  
3.એસ્કે઩ય    4. બ્રોકય   

 

ઝ બ્રેંરકિંગ કામય દયમ્માન ક્રીમયાંળ કોને આ઩લાભાાં આલેછે ? 
1.50% ઩ાંચ અને 50% ડાઈ ઉ઩ય  2. ડાઈ ઉ઩ય  
3. ઩ાંચ ઉ઩ય    4. દીઝાઈનય ઈચ્છા મ જફ ઩ાંચ કે ડાઈ ઉ઩ય.  

 

ટ  કાં઩ાઉન્ડ ડાઈભાાં.... 
                    1. એક સ્ટ્રોક દયમ્માન એક લકયસ્િેળન ઩ય ફે કે ફે કયતાાં લધાયે ઓ઩યેળન થઈ ળકે.   
 2. એક સ્ટ્રોક દયમ્માન અરગ અરગ  લકયસ્િેળન ઩ય ફે કે ફે કયતાાં લધાયે ઓ઩યેળન થઈ ળકે  
 3. એક સ્ટ્રોક દયમ્માન એક લકયસ્િેળન ઩ય એક જ ઓ઩યેળન થઈ ળકે             
 4. એક સ્ટ્રોક દયમ્માન ફે લકયસ્િેળન ઩ય ફે ઓ઩યેળન થઈ ળકે  

       

             ઠ.    સ઩મસિિંગ કામય દયમ્માન ક્રીમયાંળ કોને આ઩લાભાાં આલેછે ? 
1.50% ઩ાંચ અને 50% ડાઈ ઉ઩ય  2. ડાઈ ઉ઩ય  
3. ઩ાંચ ઉ઩ય    4. દીઝાઈનય ઈચ્છા મ જફ ઩ાંચ કે ડાઈ ઉ઩ય.  

             ડ.    નીચેનાભાાંથી કેલા  જજગનો ઉ઩મોગ એક કયતાાં લધ  િભતરભાાં ભળીસનિંગ કામય કયલા ભાિે થામ છે ? 
 
                             1. િેમ્઩રેિ જજગ     2. પ્રેિ િાઈ઩ જજગ  

   3. ઓ઩ન િાઈ઩ જજગ   4.ફોક્ષ િાઈ઩ જજગ 
             ઢ.  યોિેરિિંગ િાઇકર દયમ્માન લકય ઩ીિને પ્રો઩ય ઩ોબઝળનભાાં મકૂલા ભાિે ળેનો ઉ઩મોગ થામ છે ?  

1.પ્રેસિિંગ ડીલાઈિ    2. રપબક્ષિંગ ડીલાઈિ   

3.રોકેરિિંગ ડીલાઈિ    4.઩ોબઝસળસનિંગ ડીલાઈિ 
 

             ણ.  પે્રિની અંદય યેભના દયેક સ્ટ્રોક દયમ્માન ................. ડાઈભાાં કરિિંગ અને નોન-કરિિંગ ઓ઩યેળન 
એકિાથે થાિે.  

1.પ્રોગે્રસિલ ડાઈ    2. સિમ્઩ર ડાઈ 

3.કોંફીનેળન ડાઈ   4. કમ્઩ાઉન્ડ ડાઈ 
ત નીચે આ઩ેરી આકૃસતભાાં કેલા પ્રકાયની સભબરિંગ પ્રોિેિ થામ છે ? 

 
1.ગેંગ સભબરિંગ    2. સ્રેફ સભબરિંગ 

3.સ્ટે્રડર સભબરિંગ   4. અ઩-કિ સભબરિંગ 
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પ્રશન્ – ૨ થી પ્રશ્ન – ૮ ભાાંથી કોઈ઩ણ ચાય પ્રશ્નોના જલાફ રખો.  

પ્ર. ૨  

 

 

   1 

 

   2 

નીચેના પ્રશ્નોના પ્રશ્નોના જલાફ રખો.. (૧૪) 

ટરૂ ઈજનેયીનાાં કામય િભજાલો. ૦૭ 

પ્રોિેિ પ્રાસનિંગ એિરે શ ાં? પ્રોિેિ પ્રાસનિંગભાાં આલતા કામોની માદી ફનાલો.   ૦૭ 

પ્ર. ૩  નીચેના પ્રશ્નોના પ્રશ્નોના જલાફ રખો.. (૧૪) 
1 3-2-1 રોકેરિિંગ સિદ્ાાંત િભજાલો.  ૦૭ 
2 સિિંગર ઩ોઈન્િ કરિિંગ ટરૂ ભાિેની રૂ઩યેખા દોયો અને િભજાલો.  ૦૭ 

 
 

પ્ર. ૪  નીચેના પ્રશ્નોના પ્રશ્નોના જલાફ રખો..          (૧૪) 

1 
રોકેરિિંગ અને ક્રેમમ્઩િંગ રડલાઈિ િભજાલો. કોઈ઩ણ ત્રણ રોકેરિિંગ અને ક્રેમમ્઩િંગ              
રડલાઈિનાાં નાભ રખો.  

         ૦૭ 

2 સ્લચ્છ આકૃસતિાથે પે્રિ ટરૂભાાં થતાાં ળીમરયિંગ એક્ળન િભજાલો.            ૦૭ 
પ્ર. ૫  નીચેના પ્રશ્નોના પ્રશ્નોના જલાફ રખો..            (૧૪) 

1 
કોઈ઩ણ ચાય ય સનલિયર એક્િ જણાલો. મોગ્મ ઉદાહયણ િાથે ય સનલિયર એક્િનાાં બાગો 
િભજાલો.   

           ૦૭ 

2 કામય તથા યચનાની દ્રસષ્િએ પે્રિ ટરૂને લગીકૃત કયો.            ૦૭ 
પ્ર. ૬  નીચેના પ્રશ્નોના પ્રશ્નોના જલાફ રખો..            (૧૪) 

1 કમ્઩ાઉન્ડ ડાઈ અને પ્રોગે્રસિલ ડાઈ લચ્ચેનો તપાલત િભજાલો.              ૦૭ 
2 જજગ અને રપક્ષ્ચય લચ્ચેનો તપાલત રખો. કોઈ઩ણ ત્રણ જજગ અને રપક્ષ્ચય નાભ રખો.              ૦૭ 

પ્ર. ૭  નીચેના પ્રશ્નોના પ્રશ્નોના જલાફ રખો..             (૧૪) 
1 ક્રીમયન્િ એિરે શ ાં? કરિિંગ ડાઈભાાં ક્રીમયન્િ ળા ભાિે જરૂયી છે?            ૦૭ 
2 કરિિંગ પોિય ઘિાડલા ભાિેની યીતનાાં નાભ રખો અને કોઈ઩ણ એક યીત િભજાલો.             ૦૭ 

પ્ર. ૮  નીચેના પ્રશ્નોના પ્રશ્નોના જલાફ રખો..             (૧૪) 

1 
પોસભિંગ ડાઈનાાં નાભ રખો. એમ્ફોબઝિંગ ડાઈ િભજાલો તથા તેની ઉ઩મોબગતા અને ભમાયદા 
જણાલો. 

             ૦૭ 

2 કોઈ઩ણ ચાય રોકેિયનાાં નાભ રખો અને દોયો તથા  તેના ઉ઩મોગો રખો.               ૦૭ 


